/.

® JIREFB s - .
I M Z G CNC Tool Accessories 731& *fl: 7] E.\' g EE 'ﬁ: | CNC Tool Accessories

TIRHEIEL - o _ R W B % 7] EAREL 4 D % J]E A ¢

Cutting Tool Screw 801841 M3.5%6.5xD5.3 5.3 35 . .
801844A M3.5x8.0xD5.3 5.3 35
Borsan | MISE0DST s 53 S W Type Turning tool Clamp D Type Turning tool Clamp
801845A M3.5h1.2x9xD5.3 5.3 35
8018458 M3.5h1.2x9xD5.5xP0.6 5.5 35
0166 | MaSKIODSO 50 55 Lo ] s 0 o 2
801848A SM3.5h1.2x10xD5.3xT15 5.3 35 Object Type Screw Object Type Screw
801800 M1.6x3. 2xD2. 5 M1.6x0.35 2.5 i 0ie4e8] IEEE o Bl
801803 M1.8x4xD2. 5 M1.8x0.35 25 E %12xD5.3x WWO08 M5 DC12 M5
801803 N1.8%4-D2.5 P 25 s 8018504 SM3.5h1.2x12xD5.3xT15 5.3 35
801805 M2 0x4xD2. 85 2.85 5 oo o o 8xP06 B 32 WT16 MS DD15 M5
Soteoen Mo unps o 28 2 801854A M4.0x8xD5.7 5.7 35 DS12 M5
g - 8018548 CTM4.0x8xD5.7 5.7 35 DT16 M5
801806D M2H0x5 85X GRE ) 2 801858 M4.0x9xD5.0 5.0 35
801806E M2. 0x6xD2. 85 2. 85 5 801856 M4.0x9xD5.7 5.7 35 DV16 M5
80T807A M2. 2x5xD3. 0xP0. 45%T6 3.0 5 S01EEon M4 0%10%D5.5 55 35
801807B M2. 2x5xD3. 6xP0. 45xT6 3.6 .8 5018028 M4 0x10xD5.9 5.9 35 WCO0525E M5 DWO08 M5
801807C M2. 2x5xD2. 85xP0. 4xT7 2.85 8 SO{EE NS5 5.0 35
801807D M2. 2h0. 8x5xD3. 1xP0. 45xT7 3.1 8 501806 M4.0x12%D5.7 57 38
801808A M2. 2x6xD2. 85xP0. 4xT7 2.85 8 18548 e s s i M5026 M5
8018088 M2. 2x6xD2. 85xP0. 4xT7 2.85 8 501805 M4.0x13xD5.7 57 55
801808C M2. 2x6xD3. 0xP0. 45xT6 3.0 5 GUIEes) e 2 i
801808D M2. 2x8xD2. 85 2.85 8 501800 N4 Ox 15 70 35 Wwos WT16
B [PLkERIEID D) i 801870 M4.0x16xD5.7 5.7 35
801811A M2. 5x4. 5xD3. 6 536 2 501872 Ma.0x16xD7 0 70 3e
OS] M2g5 205 PIGRG J SH RS85 =2 | | 801871 M4.0x27.7%D5.8 L 5.8 35
801811C M2. 5x4. 5xD3. 3 5|33 2 < O TERE M4 5x0.6xD6 8 2 i
gg}ggg mgg:g:ggg 38 2 ] 801874A M4.5h0.7x11xD6.3xP0.75 } 6.3 45
fonenes e 32 2 B 8018748 M4.5x11xD7.0 ) 7.0 45
Sonenan S bt o 2 s 801875 M4.5x11.6xD6.8 i 6.8 45
8018148 545, 5403, 32 2 801876 M4.5x12.6xD6.8 . 6.8 4.5 1) 1
801816 . 5x6xD3. 3 3.3 2 F — snslole s - — — P g: EJ ] EE 14: E g: EJ ] sz *}j EE 14:
gots1e D TORPUAS 33 2 801881 M5.0x10xD7.2 M5. 0%0. 8 7.2 4.5
Sonee oD PO B 2 801882A M5.0h0.3x11xD6.4xP0.8 M5. 0x0. 8 6.4 45 . .
8018156 5x6xD3 6-R M2 5045 | 6 | 50 2 5016828 | M50x11xD6.6 M5.0x0 8 45 P Type Turning tool E Type Turning tool Clamp
LG ) 35500 2 8018820 M5h1.0x11xD7.0 MS5. 0x0. 8 45
8018208 - 5x6. 5xD3. 5xT7 M2.5x0.45 | 6.5 | 3.5 8 018820 M5.0%11xD7 2 Ve 0x0 8 s
801821 5x7.3xD3. 5 M2.5x0.45 | 7.3 | 3.5 2 501889F M5.0x11XD7.2F MSToXoT8 i = s m =
801822 - 5h0. 6x8xD3. 6xP0. 45 M2.5%0.45 | 8 | 3.6 2 015595 e 0t 14D 2 e e 8 I &R 2 {372 A 973
801624 M2. 5x10xD3. 6 M2.5x0.45 | 10 | 3.6 2 8018844 M5.0x12xD7.2 M5. 0x0. 8 45 Object Type Screw Type Screw
801825 M2. 6x6xD3.6 M2.6x045 | 6 | 3.6 2 8018848 BCFM5.0x12xD7.2 M5. 0x0. 8 4.5
801826 M3. 0n0. 5x6xD4. 0xT8 M3.0x05 | 6 | 4.0 2 LV3 M6
801828A M3. 0h0. 5x7xD4. 0xT8 M3.0x0.5 | 7 | 4.0 2 go1sea0 NEIAIZAbH 5. 0x0.8 45 EC12
. . : - 8018854 M5.0x13xD7.3 M5. 0x0. 8 45
8018288 M3x7xD4. 0xT8 (SH) M3.0x0.5 7 | 40 2 8018858 M5.0x13.2xD7.2 M5, 0x0. 8 45 LVv4 ED15 M6
8018307 M3. 0x7xD4. 2xT9 M3.0x0.5 | 7 | 4.2 2 8018850 M5.0x14xD6.6-0314 M5. 0x0. 8 45 LV5 ES12 M6
8018308 M3. 0x7xD4. 2xT10 M3.0x05 | 7 | 4.2 0 e08a50] e HSROEOHE i
801830C M3. 0x7xD4. 6xT10 M3.0x05 | 7 | 4.2 0 : : g : LA LV6 ET1 M6
S01630 N, oD T ME.O0S | s | h2 TN 801885E M5.0x14xD7.3xT15 M5. 0x0. 8 35 6
L0 S 4007 . 801886A M5.0h0.5%16xD7.0xP0.8 MS5. 0x0. 8 45 L LV4B EV16 M6
801832A M3. 0x8xD4. 0 M3.0x05 | 8 | 4.0 |T8 | 1.2 5018808 M. OX162D7 5%T20 Mo 0x0 8 ue ever
E0EERE MBROXEX D32 MBN0% R A =2 T ON 250, 8018860 M5.0x16.5xD7.3 MS5. 0x0. 8 45 EW08 M6
801832C M3. 0x8xD4. 3 M3.0x05 | 8 | 4.3 |T9 | 12 018870 Ma.0x18xD8.2 Mo 0x0 8 ue
801834 M3.0x9xD5.1 M3.0x0.5 9 |51 |T10| 1.2 8018878 M5.0x19xD7.3 M5. 0x0. 8 45 VHX0617 .
801836 M3.0%9.5 M3.0%05 | 9.5 | 4.2 |T10 | 1.2 R M6.0x15%D8.5 M6, 0x1. 0 50 VHX0821 BET]
801838 M3.0x10 M3.0x05 | 10 | 4.2 |T10 | 1.2 3018858 B M6 0x1.0 80 — i 4
e 1B A RRHEIAE, B B ORLIIE. = vHX0825 = G
2 BufEREE, BE, BAE, BILY, OBEEAE, BENER! Lever Screw VX102 80 -
7] *ﬁ Note: 1.Red specifications for hot, often sell specifications; also imported Screw standing specifications. SP3 7] $ﬁ
g 1 2.Screw colors are white, black and bronze, which is shipped at random,|If you need to specify the color, please inform the customer service! ) i 44
SP4
PR SP5
M
. SP6 s
RLET Spring SP10 A §7

3 71712 M BVZ T EARER ¢ T

& 3 i i : &
h%’)‘] Turning tools Shim M Type Turning tool Clamp h%'”
N AY N3
XSk o4 22 il $H IR 22 B i e @
7] . : Object Type A re Screw Length Height £ 7]
e Double threaded connecting screw Center Pin screw MC0903 | 9525 | 348 |R1.2 HL1511 M5 15 11 &
1203 12.7 318 |R1.6 HL1808 M5 18 8
- 1204 12.7 476 |R1.6 HL1810 M6 18 10
74 c 1604 | 15875 | 4.76 |R2.4 HL1812 M6 18 12 Az
B _ . : _ "W 1904 | 19.05 476 |R2.4 HL1814 M6 18 14 % E
ERy] ER HERB 2y 2 wF HAeRB g BK © J—L T 2504 | 254 476 |R3.2 HL2114 M6 21 14 ELy]
22 Object Other Brand Thread Length Wrench Other Brand Thread Length Wrench — P MD1103 9.525 318 |R1.2 HL2414 M6 24 14 22
MS518 - M5 18 | L2.5 CTM510 M5 10 |L25 <D B 1504 | 12.7 476 |R1.6 HL1917 M8 19 19
MS519 - M5 19 | 125 M%ype CTM511 MLP33L M5 1 125 d _ 1506 12.7 6.35 |R1.6 HL2217 M8 22 17
J]E MS520 |MCS520-2.5] M5 20 | L25 CTM513 MLP34L M5 13 [ L25 o/ ST 1906 15.9 535 R2A B WE = o 718
§Eﬂz i MS620 MCS620-3 M6 20 L3 CTM613 MLP44 M6 13 L2.5 & MS0903 9.525 3.18 R1.2 %ESZ )
MS622 - M6 22 L3 CTM617 M6 17 L2.5 N 1204 12.7 4.76 R1.6
MS625 MCS625-3 M6 25 LE) CTM617-3 MLP46 M6 17 L3 O < 1504 15.875 476 R2.0
45 ,% TR F IR MS630 MCS630-3 M6 30 L3 CTM619 MLP46L M6 19 L2.5 \S »}_‘«T 1904 19.05 4.76 R2.4 | «g
TE M type turning tool MS830 MCS828-4 M8 30 L4 CTM822P1.0 MLP58P1.0 M8 22 L3 2504 254 4.76 R3.2 TH
CTM822P1.25 MLP58P1.25 M8 22 L3 MT1603 9.525 3.18 R1.2
M E 48 2% &K&@ M6011 MCS3S-11 M6 " L3 CTM1022P1.0 MLP68P1.0 | M10 22 L4 & 16-S 9.525 3.18 |R1.2
Center pin side Screw CTM1022P1.5 MLP68P1.25 | M10 22 L4 . & < . 2204 12.7 4.76 R2.4
WCO525E | W type ramng oo | M5 25 3 Wil pal CTM515-T scPata | M5 15 |[L25 e ] S i 2704 | 15875 | 4.76 |R3.2
ET)EIRIBL M BM6026 M6 26 L4 W Type P Type CTM618-W scPats | M6 18 | L2.5 N/ > 3304 | 19.05 | 4.76 |R36
Turning tool Clamp Screw 503715 170.3-870MCP3 - 15 - ¥ & MV1603 9.525 3.18 R1.2
Cs80 EType Tuming Tools | M6 25 L4 704019 - 19 - A O\" % j[ NV1603 | 9.525 318 |R12
% TIEARIRL w M5026 M5 26 L3 \ "/ g 2204 12.7 476 |R2.0
it ¢4 Clamp Screw DCS5 D Type Tuming Tools | M5 25 L3 > H « Bie 14
§ e MW0603 | 9.525 318 |R12
M503509 | MDS5035 M5 9 | M35 \ 0804 | 12.7 476 |R1.6
@ M604011 | MDS6040 M6 1 M4 @ ] T [wwoso4 12.7 476 |R1.6
BEETIRL M106022 | MDS1060 M10 22 M6 ‘&v e
Threaded Sleeve STM16R | 9.525 3.18
' 16L | 9525 | 3.18
22R 12.7 476
STVLR WL 221 12.7 476




ol

L=

Fc 4+

Imze

TIEHTER LR F/ ARABIRTF

Tool screw Plum blossom wrench / hexagon wrench

7

JIEFEH

CNC Tool Accessories

BT EREC

Milling Clamp Accessory

At 1T 4585

C/OZ B TIWIRF

C/0Z Toolholder Wrench

BT EEO G | CNC Tool Accessories

£
Weight(KG) PRICE(RMB)
BS-C20 55-55 245 0.17 120
BS-C25 56-61 270 0.2 120
BS-C32 68-73 290 03 120
BS-C42 88-96 340 0.42 120
BS-0225 55-60 250 0.24 80

ER B 7] F

ER Toolholder Wrench

Object Type Order
01901
[ . 0190 YB4R 802500
TR S 0190 YB5R 802502
o 8 g‘ YB6R 802504
YB8R 802506
A \ 0 0
2 5 01910
0 01912 AJX $ETIER
25 01913 ' > AIX09 802511 UDMW09T320
T8 AJX121304 802512 UDMW120420
TR -84t @ 12 8[ AJX141605M 802508 UDMW140520
o> | TT20 0
25 0 SKS #71EIR
T30 7 o DCM-17 802507A  |SKS 18X10X5.0
5 0
HiF-181E 8 0220; i DCM-18 8025078 |SKS 13XBX3.2
5550 ASR $ETIER
SC1408 802513A _ |ASR 14X8X4.0
0220
0 02208
5 02210 Sc1408 Sc1609 SC1609 802513B___|ASR 16X9X5.0
120 0.
[ IT25 02214 @ TST-181005 802515 [CSY20 17.5X9.3%4.5
%0 0 0
L1375 05290 540513 JC-CGBR 802530 lcGBR
PL1.5 02292 1. 5x45x15 JC-CPS-5V 802532 cps-5v
PL: 0230 L2.0x50x17 CGBR GPS JC-CPS-6V. 802534 lcPs-6v
PL2.5 0230: L2. 5x59%20 )
TPERE
PL! 02304 L3.0x60x20 TP’EH “EWS M3/16X32GX13L 802516 [rP1103
PL3.5 0230 LS 5x60x22 uiter serew M1/4X28GX17L 802518 TP1603
PL. 0230 L4.0x74%29
bi 5 [5.0x85%33 M5/16X24GX23L 802520 [TP2204
PL 0! [6.0x96%38
PL 023 S5 T B 5251 RTIS525FP 802550 Flat cutter parts
PL10 02314 Flat cutter parts ‘ 5252# FrScrew 802552 Flat cutter parts
PL12 g g ’ 5253 A 802554 [Flat cutter parts
o 0240 5254 kAR £ Screw 802556 [Flat cutter parts
L. 02404
L 0240
—}
4 M7
E 0240 FMA/FMB T %t 7] 7] 46 & & 3t
2 . .
= — FMA/FMB Milling Cutter Toolholder Fixed Block
s 5 03554 & PrET T RERL
| IL3 [ 802 ™ A% B iTHa4 £:3
‘W’ ¥ 02256 o RS LET K2XHXLXR LXK
Object Type Order Number Screw
FMB16 802900 BX7X13XR4 5X3.8 M3x8
FMB22-4 802902 10X10X15.8XR5 6X4.8 M4X10
FMB22-5 802904 10X10X15.8XR5 6X4.8 M5X10
FMB27 802906 12X11X18.8XR6 7X5.8 M5X12
FMB32 802908 14X13X21.8XR7 8X6.8 M6X 14
S T2 gk
BRI EE Tk B8 44 FMB40 802910 16X15X25.3XR8 9X8.3 M6X16
Spherical Precision Milling Cutter Screw
FMA22.225 802920 7.94X7X12.5XR3.97 5X3.5 M1/8X8
FMA25.4 802922 9.52X9X15.3XR4.76 6X4.52 | M5/32X10
FMA31.75 802924 12.7X12X20XR6.35 7X6.7 M3/16X12
FMA38.1 802926 15.86X15X25.6XR7.94 | 9X8.87 | M1/4X14
B T 4R AG EM7] FMA50.8 802928 19.05X18X29.3XR9.52 | 10X9.75 | M5/16X18
Size(mm) Order Insert FMA47.625 802930 [25.4x18X382xR12.7 | 13X125 | M5/16X18
T2139-R4 M3.0x0.5 | 7 R4
T2139-R5 M4.0x0.5 | 9 R5
T2135-R6 MS.0x05 | @ Ro SLN MIE X8t 7] TR E E 1R
T2139-R8 M5.0x0.5 | 13 R8
T2139-R10 M5.0x0.5 | 16 R10 SLN Fixing screw of side fixed milling cutter shank
T2139-R12.5 M6. 0x0.75 | 21 R12.5
T2139-R15 M8.0x0.75 | 25 R15
T2139-R16 M8. 0x0. 75 25 R16 fﬂ”ﬁ&u% ﬁﬁ% &Jﬁxﬁ;ﬁﬁ ?ﬁ?uﬁ%
ype Order Number Thread Wrench Hole Spacin,
BNM-RS M3.0x0.35 | 8 BNM-100 Baclly
Bne M3.oxD 8 |2 My SLN06 802950 MBX6XP1.0XL3 18X0
BNM-R10 M5. 0x0. 8 16 BNM-200 SLNO08 802952 IM8X8XP1.25XL4 18X0
BNM-R12.5 M6. 0x1. 0 20 BNM-250 SLN10 802954 IM10X10XP1.5XL4 20X0
BNM-R15 M8.0x1.25 | 25 BNM-300 SLN12 802956 IM12X12XP1.75XL6 22.5X0
SLN16 802958 M14X14XP2.0XL6 24%0
SLN20 802960 M16X16XP2.0XL8 25X0
Zocre VRS I o SLN25 802962 M18X18XP2.0XL10 24x25
2CO.R10 [ IS a0 SLN32 802964 IM20X20XP2.0XL10 24X28
SLN40 802966 IM20X20XP2.0XL10 30X32
SLN42 802968 IM20X20XP2.0XL10 30X32
ABPF-R3 M2.0x0.4 5 ABPF-R3
ABPF-R4 M3.0x0.5 | 6 ABPF-R4
ABPF-R5 M3.5x0.6 | 8 ABPF-R5 . =
ABPF-R6 M5.0x0.8 | 9 ABPF-R6 SETIERMH
ABPF-R8 M5.0x0.8 | 13 ABPF-R8
ABPF-R10 M6.0x1.0 | 17 ABPF-R10 Boring tool parts
ABPF-R12.5 M6.0x1.0 | 22 ABPF-R12.5
ABPF-R15 M8. 0x1. 25 25 ABPF-R15
ABPF-R16 M8.0x1.25 | 25 ABPF-R16 3R]
MITSUBISHI-R5 M3.0x0.5 | 8 RS Corresponding
MITSUBISHI-R6 M3.5x0.6 | 10 R6 e
MITSUBISHI-R8 M4. 0x0. 7 14 R8 WHRL 4% Fine boring head B1-2 Screw | M3x8x5xL2 CK1 SRR
MITSUBISHI-R10 M5.0x0.8 | 16 R10 Reguilating Screw\ #7894 Regulation of Screw cutter | PTMBX60xP1.0xL3 . ORI
mggg:g::sg“‘ mg g} gs gi §]§5 \ [M3AABFF Regulation of Screw cutter | M6x17xP0 5xL3-CK4 CKa TORIBAT
¥&4% NBH2084 Fine boring side Screw | M12x16xP1.75 NBH2084 iR+

Yk

Milling Cutter Alloy Shim

Ex

Object

RH7R
Dimensions

SC10503|10.5 | 3.0 [0.5/5.4 | 7 | SE..13T3
SB9403 |9.4 [3.18 [9.4(54 | 7 | SE.1204
SC1003 | 10 [3.18 |10 |5.4 | 7 sD12

S$X10503 (10.5 | 3 10.5/5.4 | 7 |R290-12T3

S
129BT-M3x7xP0. 5xH2 CKA(BIG)
TR R 129BT-M3x8xP0. 5xH2 CK2(BIG)
Insert seat side 129BT-M4x11xP0. 7xH2.5 CK3(BIG)
fastening screws 129BT-M5x13.7xP0. 8xH3 CK4(BIG)
129BT-M5x14.2xP0. 8xH4 CK5(BIG)
129BT-M8x21.4xP1.25xH5 CK6(BIG)
M4x5xP0. 5xA30 CKA1(BIG)
ENMERL M5x7xP0. 5xA30 CK2(BIG)
Fine boring side Screw M6x8xP0. 75xA30 CK3(BIG)
Refined Sugar Cephalic M8x11xP0. 75xA30 CK4(BIG)
Serew Fixation M10x14xP1.0xA30 CK5(BIG)
M12x18xP1.0xA30 CK6(BIG)

M16x20xP1. 5xA30

MD63F(KORLOY)

M16x26xP1. 5xA30

MD80F(KORLOY)

M16x31xP1. 5xA30

MD90F(KORLOY)

A

ERERF A

Weight(KG) PRICE(RMB)
BS-ER11A 17.2 120 0.10 100
BS-ER16A 25.2 140 0.15 100
BS-ER20A 30.3 160 0.19 100
BS-ER8M 12 75 0.05 100
BS-ER11M 16 95 0.04 100
BS-ER16M 22 17 0.06 100
BS-ER20M 28 129 0.07 100
BS-ER25M 35 142 0.09 100
BS-ER25UM 42 210 0.15 110
BS-ER32UM 50 250 0.28 120
BS-ER40UM 64 290 0.42 130

GER/GSK B J]#H#R F

GER/GSK Toolholder Wrench

ER & J]{RZ Mg

ER Toolholder Nut

ER-4Z1E A

4

ER-4Z1HE M

ER-21F UM

d

EECIRF Eify
Matching Wrench PRICE(RMB)
LM-ER11A 19 11.5 BS-ER11A 100
LM-ER16A 28 17.5 BS-ER16A 100
LM-ER20A 34 19.0 BS-ER20A 100
LM-ER8M 12 10.8 BS-ER8M 100
LM-ER11M 16 12.0 BS-ER11M 100
LM-ER16M 22 18.0 BS-ER16M 100
LM-ER20M 28 19.0 BS-ER20M 100
LM-ER25M 35 20.0 BS-ER25M 100
LM-ER25UM 42 20.0 BS-ER25UM 100
LM-ER32UM 50 22.5 BS-ER32UM 110
LM-ER40UM 64 25.5 BS-ER40UM 120
LM-ER50UM 78 35.3 BS-ER50UM 150
GSK & J] #1218
GSK Toolholder Nut
e >
—_—
T D

- EECIRF By
A Matching Wrench PRICE(RMB)
! L LM-GER16 30 21 BS-GER16 120
LM-GER16MINI 25 21 BS-GER16MINI 120
GEREUIRE GCRIIRF  GSKERFE LM-GER20 35 21.8 BS-GER20 130
LM-GER20MINI 30 21.8 BS-GER20MINI 130
BB Y LM-GER25 40 23 BS-GER25 140
Weight(KG) PRICE(RMB) LM-GER25MINI 35 23 BS-GER25MINI 140
LM-GER32 50 35 BS-GER32 180
BS-GER16 30 150 0.24 300 LM-GSK06 19.5 21.3 BS-GSKO06 260
BS-GER16MINI 25 150 0.24 300 LM-GSK10 271 242 BS-GSK10 300
BS-GER20 35 160 0.30 300 LM-GSK16 40 31 BS-GSK16 350
BS-GER20MINI 30 160 0.30 300 LM-GSK25 55 37.5 BS-GSK25 420
BS-GER25 40 180 0.35 300
BS-GER25MINI 35 180 0.35 300
BS-GER32 50 180 0.70 400 SK & J] 1R 2 G
BS-GSK06 19.5 110 0.11 500
BS-GSK10 27.1 150 0.29 300 SK Toolholder Nut
BS-GSK16 40 170 0.39 300
BS-GSK25 55 210 0.38 500
e
SK B J1#R IR F T
SK Toolholder Wrench T D
A
! L »>| L
SKEIR F
£ B ERCIRF B
Weight(KG) PRICE(RMB) Matching Wrench|  PRICE(RMB)
BS-TSKO06 18.2 175 0.11 200 LM-TSK06 19.5 15 BS-TSK06 200
BS-TSK10 25.2 175 0.12 152 LM-TSK10 275 17 BS-TSK10 152
BS-TSK16 40 220 0.15 228 LM-TSK16 40 24.3 BS-TSK16 228
BS-TSK25 55 230 0.17 304 LM-TSK25 55 37 BS-TSK25 304

%7]
Be 1

7]
AL 4

L=

[




MZG"

AR BE IR TIWRBLAT /R 25

NC Milling Machine Toolholder Pull Rod / Puller Bolt

JIEFEH

CNC Tool Accessories

B IR T WL AT/ 5Lk

BT EEO G | CNC Tool Accessories

NC Milling Machine Toolholder Pull Rod / Puller Bolt
R1_ s
_ /\ 4 /‘\‘
2 gl s 3 »
DIN69872
\ < N th s S E T
The center pases the oil-type puller bolt
: - - - TTa4RAS | 1$T B S i HURTT R #ix B
WSS RS D d d1 d2 L e @ Q Fﬁﬁ &iE %1)'? Order Type Application Machine Tool Manufacturer d3 Note Price
Order Type Application Note Price 809700 |PS-130E BT30-MAS-I145 % BT ARERIN T 2.5 d2=7.5 60
809600 PS-1 15 23 17 10 60 35 M16 45 BT40-1#5E & MAS P40T-1 40 809702 |PS-132 BT30-MAS- 145 5 CANUC 4 d2=8 60
809602 PS-2 60 BT40-24F B MAS P40T-2 40 809704 |PS-802 BT31-JI1S-B6339-89 4 PS-80175 7L 60
809604 PS-3 N y 5 » ; 0 oo 45 BT45—1$:1:=}?§J MAS P45T-1 50 809706 |PS-876 BT30JIS e 25 d4=5.5 0=30 60
809606 PS-4 60 BT45-247 f & MAS P45T-2 50 809708 |PS-73 BT40-MAS-I 4 PS-1# %l 70
809608 PS-5 45 BT50- 1474 & MAS P50T-1 80 809710 |PS-371 BT40-MAS-I| KIRE 3 d4=7 0=30 70
809610 PS6 23 38 25 17 85 45 M24 o0 BT50-2t & MAS P50T-2 30 809712 |PS-392 BT40-MAS-I FHIMN 3 d4=7.3 0
809612 | PS-16 45 BT30-147 & MAS P30T-1 40 809714 |PS-H28 BT40-MAS-| ‘ 3 d4=5 70
209014 PS17 1" 16.5 12.5 7 43 23 M12 . BT30-2%5 Al MAS P30T-2 n :82;1: Ez-;g; BT44-MAS-II Shva -k ;1 PSP;ZJ@EI:H ;8
%7 809616 | PS-18 13 20 8.5 48 28 “ BTSS'”’fYEﬂ MAS P35T-2 o0 809720 |PS-813-1 T i 4% A 6 A8568—015%O£E§Tﬁ% 70 %7
Be 809618 |  PS-19 60 BT35-2kR AL Bl MAS P35T-2 50 509722 |Ps-854 : P - [
809620 |  PS-5F P . .- M24 45 BT50-1 PS-5 i B 90 509724 |Ps.874 BT40-J1S ZET 5 d4=r:o =0 P
“ 7] 809622 PS-6F 60 BT50-2 PS-6 i & #t B 90 809726 |PS-877 JTEKT 3 d4=7.3 70 %]
AL 809624 | PS-50 23 o 17 110 70 - BT50 90 809728 |PS-B62-1 . 4 S158%0M B H AR 70 Aot
809626 PS-53 26.187 85.2 45.2 1-8UNC 90 809730 |PS-366E-1 BT40 i BFL FABMLFIE PR 7 d4=10 0=30 N29104*3 70
774 809628 PS-63 26 825 45 1-8UNC 60 CATS0U 90 809732 |PS-G51 7 PS-G58 # 7.34931900680*2 70
R 809734 |PS-G510 BT40ANSI Wi B H, 5 7 PS-G517 £ #/34261910160*2 70 1B
g 1 809630 PS-70 19 . 17 14 60 35 M16 s BT40 40 =k 2 e 14
509692 PS-72 " PP 0 57.15 | 32.15 | 5/8-11UNC CATA0U 20 809736 |PS-309 IT40 DIN 7 DIN 69872-A-1988 80
809634 | PS-0 23 38 25 17 85 45 M24 BT50-90% 90 809738 |PS-380E IT40 DIN gl . 7 d4=10 0=30 N29106*3 80
- 809636 P5-081 " - . I o0 e e BT20-90® o 809740 |PS-A1 IT401SOA ARAE LA B 7 1SO-7388/2-1984A 80
— Serer cop o = - - = . o . P n 809742 |PS-A4 IT401SO B 7.35 1SO-7388/2-1984B 80
s T oopet - > = = " - e ST HR AL - 809744 |PS-G52 IT40 ANSI Ll T 335 7 34931900660*2 80 “ %
= 809746 |PS-G53 CAT40U ANSI 7 34931900670*2 80
809642 PS-P10 11 16 12.5 7 40 20 M12 BT30= #4541 40 809748 |PS-B64-1 CAT40U ANSI e 4 S15% 0% % 3 (B 7 80
F i 809644 PS-U2 13.7 20 13 8.9 53 28 60 BT35# A ML 50 809750 |PS-D72 CAT40U ANSI b 7 ANSI/ASME B5,50-1985 80 g
E\ ,;ﬁ 809646 | PS-G4 23 38 25 17 85 45 24 o BT505 L3 90 809752 |PS-381E CAT40U il @7l L HE R ! d4-100=30 N29105°3 = E‘ ,;:T]
—%g 809648 PS-G5 15 23 17 10 54.6 29.6 M16 BT405#.5% 50 809754 |PS-5E BT50-MAS-| " 6 PS-57 Fl 100 %}
- 809650 PS-G45 28.956 37 25 20.828 65.2 25.2 M24 BT505 #. 5% i @ #f BE PS-G41% 7l 100 809756 |PS-552 FHIMN 6 d4=10.4 100
809652 |  PS-G58 18.796 | 22 17 | 12.446 | 4441 | 19.106 M16 45 BT40D .52 s T A PS-G51%TL 80 809758 |PS-563 ZETIAL 5.5 d4=11.2 0=60 100
7 809654 |  PS-G60 18.796 | 21.8 | 16.281 | 12.446 | 41.256 | 16.256 | 5/8-11UNC CAT40UX IR 60 809760 |PS-595 AR AL {F B 8 d4=110=30 N29120"3 100 #i 7]
s 809656 |  PS-019 - 17 85 45.2 1-8UNC CAT50U 90 809762 |PS-5024 BT50.MAS.I ARREH 6 d4=9.5 0=30 100 B
809658 | PS-047 23 " 25 17 85 45 V24 90 IT50 ZRRE L . 809764 |PS-5027 j(EJ%MI 6 ﬁ%@ﬂﬁ%oi‘lzﬁlﬂ 100
7% 809660 |  PS-P13 24 36 - 18 71 31 1-8UNC CAT50U = 31541 %0 809766 |PS-5030G REHH 4.5 OR B HE K 100 -
BE 809662 PS-H30 15 23 16.281 10 57.2 32.2 5/8-11UNC | 45 CAT40U Eﬁ*’ém 60 809768 |PSME SRR ° O T o0 BE
=ih : . : A 809770 |PS-H38-B i 3 imwﬁ OB % £ R FF 100 i
52 809664 PS-B1 22 38 25 16 112 72 o 60 BT50 X FR 90 809772 |PS-6E BT50-MAS-I1 ALTR 6 PS-6E5 7L 100 52
809666 PS-809 28 - . 21 74 34 BT50 if; i & JIS-B6339-89 90 809774 |PS-578 FHIMN 6 d4=10.4 100
809668 PS-805 19 14 54 29 M16 75 BT40 i & & 5 JIS-B6339-89 60 809776 |PS-579 ZET 5.5 d4=11.2 0=60 100 -
;]EQE 809670 PS-801 12 16.5 12.5 8 43 23.4 BT30 i [ #ff & JIS-B6339-89 50 809778 |PS-596 BT50-MAS-II FRAGHLFIE PR 8 d4=110=30n29126*3 100 ?—?;ZE
809672 |  PS-J 14 20 13 45 23 90 BT35 JL 4T HLHL 60 809780 |PS-5016 ARRFM 6 44795030 100
809674 |  PS-M10 14 16 12.5 10 40 22 vz CAT30S 4l 50 809782 |PS-B60 AR 6 HORL & 3 [F I 100
i) 809676 | PS-R3 10 18 13 7 43 25 45 BT35 B = 80 809784 |PS-H39-B A SzHEHL S %mﬁ”’oﬁ’zimq 100 ag
S S T T T e : i
N - RIGH =110=
809680 PS-301 15 23 17 1 60 35 M16 60 BT40:# E 40 209790 |PS-067 BT50 90 KIRHLT 6 i [E0 Bff 75 OB 57 3 [ 3F 100
809682 PS-Q3 16 16.5 12.5 12.5 31.8 11.8 M12 45 BT30 40 809792 |PS.0488 L 5 8 BOR & 5 F B 00
809684 PS-BR*1 7 10 6.5 4 28 17 M6 45 BT15 25 Tl 90 209794 |PS810 BT50 115-B6339-89 Shva ok 0 PS-809% L 100
809686 PS-81 12 16.5 12.5 8 44 24 M12 R4 BT30 CKDH 50 809796 |PS-819 FHEIMHN 6 d4=10.4 100
809688 PS-581 28 36 25 21 74 34 M24 IT50 DIN69872-B-1988 90 509795 |PS-833 BT50 JIS 2 Tl 5.5 d4=11.2 0=60 100
EEFF 809690 PS-302 19 23 17 14 54 26 M16 75 1T40 DIN69872-A-1988 70 809800 |PS-816-1 _ #ﬁ}%%JJf?ﬁﬁ 6 Pzﬁoiﬂaﬁm 100 EEFF
809692 PS-122 13 17 13 9 44 24 M12 T30 DING9872-A-1988 60 809802 |PS-P16 BT50 =HKEH LA =HBN 8 PS-Pis 7L i i i BE 100
809694 PS-S27 18.95 22.5 17 12.95 | 44.25 19.25 M6 45 BT40%i H A T#l 50 809804 |PS-G41 10 i 1 M3 OB % £ [B] ¥744831901160*2 100
809806 |PS-G63 BT50 ANSI 10 PS-G457 L. i T #f BE32551901720*2 100
XL E BB REER TR OFLRET RS, 1R IRE R ERT . %The center passes the oil-type engine bed when uses the non-center bore puller bolt. 809808 |PS-G410 10 PS-G415 £ M 1§34341901620*2 100
%PS-8141% /= 4 — FIPS-805 %PS-814 abolishes the unification to use PS-805 809810 |PS-D92 CAT50U ANSI WIS % 11.7 ANSI/ASME B5,50-1985 100
Xzz-ggfgfg—ggg-g;-: ng'gg aso‘”s:est‘;e Unif“cat“oﬂgo use 53585}1 809812 |PS-A3 IT50 1ISO A 1.5 ISO-7388/2-1984A 100
iﬁiT—TWE{PS-BRﬁﬂE}ﬁBﬂSQHHTHWF’37 ipuller baolfb‘Zdisma(ljeusn;r‘lcdaﬂlw(;nPg-uBS; puller bolt recommendation uses BT15 thin pole hillt P37 809814 |PS-A6 IT501S0 B 11.55 [S0-7388/2-19848 100
XEEMDR R TR, FEBSEMDERRH: PS-6-IDB %When needs to attach ID the puller bolt,please at model add-on ID table demonstration:PS-6-IDB 809816 |PS-512 ITS0 DIN 1.5 DIN 69872-A-1988 100




® JIREFB s - .
I M Z G CNC Tool Accessories 731& j:fli 7] E.\' g EE 'ﬁ: | CNC Tool Accessories

e e #EE0.003mm  Accuracy: 0.003mm
AN 1= 3k ER JItRE % o
HM Hydraulic Collet Jp— ER Toolholder Collet —HE‘[]_&’) —
= IR E
- ] OHM12 -3 3 1803200 950 Accuracy: 0.02mm
-4 4 1803202 950 Accuracy: 0.008mm
=k EF -5 5 1803204 950 Accuracy: 0.005mm
= EE: = '-: !l i 5 12 | 19 | 445| 2 6 |803208 950
nghAccuracy:*{ --------------------------------- HI‘; 7 7 [803204 950 | L)
0.005mm L y ) -8 8 803214 950 Order EleE
-10 10 |803214 950
OHN20 3 > To03014 020 ER8-1,1.5,2,2.5,3,3.5,4,4.5,5 100
” 4 | 803218 950 ER11-1,1.5,2,2.5,3,3.5,4,4.5,5,5.5,6,6.5,7 100
-5 5 1803218 950 ER16-1,1.5,2,2.5,3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10 100
-6 6 |803220 950 ER20-1,1.5,2,2.5,3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10,10.5,11,11.5,12,12.5,13 100
= ; 803§§j 950 ER25-1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16 105
. o e e ER32-1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22 110
210 10 | 803228 950 ER40-2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26,27,28 120
11 200 29 5051 2 11 | 803230 950 ER50-12,14,16,18,20,22,24,26,28,30,32,34 350
12 12 | 803233 950
13 13 803234 950 SK T”ﬁ ;%
14 14 |803234 950
T 15 T80323d 950 SK Toolholder Collet ) S
-16 16 | 803244 950 , ~ <—-1
EET{% 17 17 | 803242 950 *E0 MR TIQ—&A %12
-18 18 |803244 950 ’ , J
o OHM32 -6 6 |803244 1150 /‘”w }I o
12 -8 8 |803244 1150  TiToTiToTiTiTmmmo— 2 e E
Bt 0 10 T803250 1150 \,,J 0.005MM PSR B 1
12 12 1803254 1150 . Accuracy: 0.005mm
T14% ¥ £0.005mm  Accuracy: 0.005mm 4 32 39 60513 14 |803254 1150 Wk
AL -16 16 | 803256 1150 EiUR=) T B Be
-18 18 |803258 1150 Cat.No Order TF’?’\IACBE)
-20 20 |803260 1150 e
3 1803100 25 25 1803264 1150 SK6-0.8,1,1.25,1.5,1.75,2,2.25,2.5,2.75,3,3.5,4,4.5,5,5.5,6 803500 420 Ad)
-4 4 1803102 700 SK10-2,2.25,2.5,2.75,3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10 803507 350
- o | 16 | aas| o |l T00 C mAOBTIME K SK16-3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10,10.5,11,11.5,12,12.5,13,13.5,14,14.5,15,15.5,16 803504 350
7 7 1803108 700 C powerful tool holder collet SK20-3,4,5,6,8,10,12,16,20 803506 350
=1 8 s 1803110l 700 SK25-6,8,10,12,14,16,16.5,17,17.5,18,18.5,19,19.5,20,20.5,21,21.5,22,22.5,23,23.5,24,24.5,25,25 .4 803508 380 1
%5 -10 10 |803112| 700 0.005  0.01 e m
1 HM20 -3 3 |803114 700 Tl kER AEEER oYk IGES . =
-4 4 |803116] 700 ” || °© N T
. I 5_|s0ats]_700 : : OZ Toolholder Collet e L, .
7] 6 6 [803120 700 J 7]
[ y &
-7 7 [803122 700 . - _—
-8 8 [803124 700 B B2 ol Sl | , B a5
Z5 -9 9 |803124 700 Style CatNo Nomber| (RMB) Accuracy: 0.015mm 25
55 -10 20 | 24 | 505 |2 101803128 700 C20 | ©20-3,4,5,6,8,10,12,16 26| 55.) 803300 100 e - o 55
52 -1 ' 11803130 700 C25 | C25-3,4,5,6,8,10,12,16,20 30| 63] 803304 120 Cato ora oRICE 52
-12 121803132 700 C32 | C32-3,4,5,6,7,8,9,10,12,16,20,25 | 38| 70| 803304 140 . feer (RMB)
5 -13 13 |803134 700 C32 | C32-1/4,5/16,3/8,1/2,5/8,3/4,1" 38| 70| 803306 140 0Z725-3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25 803700 100 7a
sim 14 14 1803139 790 C42 | C42-3.4,68,10,12,16,20,25,32 | 48| 75| 803308 200 0232-3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26,27,28,29,30,31,32 803702 100 #i
- -15 15 1803138 700 C42 C42-1/4,5/16,3/8,1/2,5/8,3/4,1" 1-1/4" | 48| 75 80331(| 200 =
16 16 |803140 700
2y [ T Jeosug 7o ADS/MX 5 $1 3% 711 f 5 ERZ J)HA1k7k f8 3% o 2%
B HM32 -6 6 [803146 850 Ads / MX back pull toolholder collet ERZ Toolholder Water Stop Collet —HH—‘&Q —
3 8 [803148 850
-10 10 |803150 850
-12 12 |803152 850 BRENAEE
14 32 36 | 60.5| 3 14 (803154 850 BRI IA Accuracy: 0.015mm
-16 16 |803156 850 Y ¥
-18 18 |803158 850 T L X7y
EE#F -20 20 803160 850 ;rder E’r‘f{&% Eaﬁ:
25 25 |803169 850
ERZ16-4, 5, 6, 7, 8, 9, 10 803800 150
ERZ20-4, 5, 6, 7, 8, 9, 10, 11, 12 803802 150
MX6-2,3,4,5,6,3.175 . . . 80340( ERZ25-4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16 803804 150
R HE S S #Uses the straight body design MX10 m§1g-3,4,5,6,8,10 0.005 0.003| 16| 52| 803402 680 ERZz32-4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 18, 20 803806 150
3,4,56,8,10,12 | 0. _ =
BT B TG %1 suitable for the hydraulic pressure hilt Mx12 0.009 0.003) 22| 57) 803409 680 ERZ40-4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 18, 20, 25 803808] 200

WEPo7 P08 ]




Imze

TC HAAKNFTIRER

MEE:

P 4

B 1+

CNC Tool Accessories

TC Quick Change Taps Collet

1T g 4 n
Style Cat.No Number (GU:))
TC1638-M14,M15,M16,M17,M18,M20,M22,M24,M25,M26,M27,M28,M30,M32,M33,M34,M35,M36
TC1638 -UNC9/16,UNC5/8,UNC3/4,UNC7/8,UNC1,UNC1-1/8,UNC1-1/4,UNC1-3/8 804000 | 600
-PT1/4,PT3/8,PT1/2,PT3/4,PT1
TC822-M7,M8,M9,M10,M11,M12,M14,M15,M16,M17,M18,M20,M22
TC822 -UNC3/8,7/16,1/2,9/16,5/8,3/4,7/8 804002 450
-PT1/8,PT1/4,PT3/8,PT1/2
TC312-M3,M4,M5,M6,M7,M8,M9,M10,M11,M12,M14,M15
TC312 -UNC1/4,UNC5/16,UNC3/8,UNC7/16,UNC1/2,UNC9/16 804004 | 300
-PT1/8,PT1/4
G EMACSHEIMERESALRANRF ALK BN S B ol
Bt —HIN
P sl
ERT4 I 3% ]
7] ERT Tapping Collets @ < 'UID
Bl g
‘ B ol e
ZE ERTAIO BRI RS (10BOK) S | L
ERT tapping collets are manufactured according to accuracy standard 1 (10 microns). BESE A Tk ERYE Sk, SOE M T £ 20k
fisT CHEAR 42 O 52 AR R TR 10 T
ERT16 3 ERT16 Collets D=16.5/L=27.5
TH%HS MigR S “I#5E Tapping standard “ A kR~
Order No. Model DIN371 DIN376 A-[0 mm
X5 804200 ERT 16045 4.5 M4 M6 3.4 18
] 804202 ERT 16050 5 ISO JIS 4 18
’f%/\” 804204 ERT 16055 5.5 M7 4.5 18
804206 ERT 16060 6 M4.5-M5-M6 M8 4.9 18
804208 ERT 16070 7 M7 M9-M10 5.5 18
’fﬁ}j]
&
ERT20 &3 ERT20 Collets D=20.5/L=32.5
pAz: TM%HS AisE S LW HrifE Tapping standard # W7k R+
gg Order No. Model DIN371 DIN376 A-O0 mm
Egj‘ 804300 ERT 20045 4.5 M4 M6 3.4 18
804302 ERT 20050 5 ISO JIS 4 18
804304 ERT 20055 5.5 M7 4.5 18
s 804306 ERT 20060 6 M4.5-M5-M6 M8 4.9 18
=3 804308 ERT 20070 7 M7 M9-M10 55 18
804310 ERT 20090 8 M8 M11 6.2 22
A 804312 ERT 20100 9 M9 M12 7 22
TE 804314 ERT 20110 10 M10 8 25
ERT25 3% ERT25 Collets D=25.5/L=34
THES Mg # ks Tapping standard 2B H LR~
Order No. Model DIN371 DIN376 A-O0 mm
804400 ERT 25045 4.5 M4 M6 3.4 18
i 804402 ERT 25050 5 ISO JIS 4 18
804404 ERT 25055 5.5 M7 4.5 18
804406 ERT 25060 6 M4.5-M5-M6 M8 4.9 18
804408 ERT 25070 7 M7 M9-M10 5.5 18
804410 ERT 25080 8 M8 M11 6.2 22
804412 ERT 28090 9 M9 M12 7 22
804414 ERT 25100 10 M10 8 25
804416 ERT 25110 11 M14 9 25
804418 ERT 25120 12 M12 M16 9 25

ERTE2 T ) & M 4 # FE AR 140 (10BK D il -

ERT tapping collets are manufactured according to accuracy standard 1 (10 microns).

BT T E 0 | CNC Tool Accessories

&

® <
!

50

L
—

L1

30‘)

L

WE3E ] T ARl IERSK S, & T 22 B0 3k .
CHRU A 22 TRy 52 [ AR RO IR IR

ERT32 @3k ERT32 Collets D=32/L=40
THES MigE S # ks 4 Tapping standard 2 E LR~
Order No. Model DIN371 DIN376 A-O0 mm
804600 ERT 32045 4.5 M4 M6 3.4 18
804602 ERT 32050 5 ISO JIs 4 18
804604 ERT 32055 5.5 M7 45 18
804606 ERT 32060 6 M4.5-M5-M6 M8 4.9 18
804608 ERT 32070 7 M7 M9-M10 55 18
804610 ERT 32080 8 M8 M11 6.2 22
804612 ERT 32090 9 M9 M12 7 22 5
804614 ERT 32100 10 M10 8 25 Fic 4
804616 ERT 32110 1 M14 9 25
804618 ERT 32120 12 M12 M16 9 25 Bt T]
804620 ERT 32140 14 M18 11 25 Aot
804622 ERT 32160 16 M20 12 25
T4
Fic 14
ERT40 ¥ ERT40 Collets D=40.5/L=46 232
THE S Mg H 2 . WHRE Tapping standard 2GR~
Order No. Model DIN371 DIN376
804800 ERT 40060 6 M4. 5-M5-M6 M8 4.9 18 i
804802 ERT 40070 7 M7 M9-M10 5.5 18 E\;ﬁ
804804 ERT 40080 8 M8 M11 6.2 22 %
804806 ERT 40090 9 M9 M12 7 22
804808 ERT 40100 10 M10 8 25 i 7]
804810 ERT 40110 1 M14 9 25 B
804812 ERT 40120 12 M12 M16 9 25
804814 ERT 40140 14 M18 11 25 gf‘%
804816 ERT 40160 16 M20 12 25 Fi
804818 ERT 40170 17 JIS 13 33 )
804820 ERT 40180 18 M22-M24 14.5 33 8
804822 ERT 40200 20 M27 16 33 Erge
804824 ERT 40220 22 M30 18 33
BE
IA
e 4




® JIREFB b 4ok . :
I M Z G CNC Tool Accessories %& j:fli j] E-\' g EE 'ﬁ: | CNC Tool Accessories

FiEES 3 40 3 M F =5
Spindle Cleaning Rod Spindle Test Bar Mechanical Edge Finder

FM10-10 ME-610
) FIG.2 FIG.3
_ m | s wogeino | Fe | 01 | 11| Price]
FILE FM10-4 1 160
Concentricity FM10-4-Tin &4k 1 10 90 160
: BT30-TA250L 32 250 3300 ) FM10-10 2 10 82.8 | 160
m = B FM10-4 FM10-4-Tin
f“*g ,if | prICE BT40-TA300L 40 300 3800 45K ME-510 : & 65 |19
ype Weight(KG) | (rmB) BT50-TA300L 40 300 4200
JB.BT30 005 200 SKT40-TA300L 40 300 4200
el ' SKT50-TA300L 40 300 +0.003 4550 . . ) 1y N
JB-BT40 CAT30-TA250L 32 250 3200 Blﬁj :& \_EJ'legﬁ D1§" g ﬁ' """"""""""
Gz 006 200 CAT40-TA300L 40 300 3600 - : il 0! O f
Ceramic Edge Finder | ‘ O —
BT 013 . CAT50-TA300L 40 300 4000
' HSK63A-TA300L 40 400 7600 SH-1020 WH-1020
— FIG.1 FIG.2
— s —- S
$ 42 7D 48 71 BL 4 D -1 7] e i TR e B
B#  CNC tool holder for tool removal : 11090 WH-1020 2 10 83 280| EH
FIG.1
7] .8 %71
Bofr e
N,
B4 X FiHE
J1HR ; 1R
iRy Rotary Edge Finder i f5
54 ME-P1 ME-P2 .
e : FIG.1 FIG.2 e
BT/CAT NBT XBT 1ISO —-- w5
ME-P1 260
ME-P2 2 10 144 280 )
XBT $5i 7] EE ISO i J] K& HSK % 7] B EX
Locking fixture Locking fixture Locking fixture Locking fixture gjmmu
53

BT30 600 XBT30 [ 750 1S020-33 2000 HSK25 2000 SkeEtShee
v 5]
BT40 600 XBT40 | 750 1S025-37 2300 HSK32 2300 Photoelectric Edge Finder
A& BT50 800 XBT50 | 1000 1SO30-50 2300 HSK40 2300 9 T ) 0 4%)
T CAT30 1100 NBT30-46 2300 HSK50 3200 f
ype 45(1.8")
CAT40 1200 NBT30 | 600 HSK63
CAT50 1450 HSK100 RM20/PM32
7]/\ rL — 0o E A} o jj_’E\_
ar WBRTE 3D77 [ 3 14 5 ETETR T T AT AT -
Z-Axis Setter 3D Senors Haimer PM20 360
éﬁé FIG.1 FIG.2 FIG.6 PM32 32 71 41 460 —Eé
TE I&

GRS &= = EIRE B
Model No Flg Seting High Price

- ‘ (0.1) Battery:UM-5,2pcs 16
/ \ Bed Iamp (0.6")
) ——
o ; WK ) (g4 i)

ZIP50A w&RR 50mmz+0.005 1000 : T
Be 14 EIP50A % . 50mm=0.005 1000 ; ‘ 451,87 [
ASM50 3 50mm+0.005 2400 ‘ | { | Ij> Kd Cap ! 157(6.2")
ZAP50 4 50mm+0.005 2960 £ ) = < o 42 A { e %Y R X 5
g RS R mEE BE Wiz L) ; ;\00, "
ASM100 S 100mm+0.005 1800 Model No Haimer | Accuracy | Diameter Price | 3 .‘;}?{({fg % RM3/4",PM1-1/4
— /,'

1R DR ETIKA 5 - *«Easy location of work face, #Spring-retained sensor ball por-
2. REEA M 3DAGEF (3D ShortNeedle)| 50.362.00 0.00mm 20mm O0.D.L.D tects the unit against over-run PM3/4" 19. 05(3/4) 360
1.Easy,quick,simple for setting tool length on the machine center 3D-K:€-|'(3D-Iong Needle) 80.363.00 0.01mm 20mm PM1- 1/4 31 75(1 -1 /4") 71 41 460
2.Base with magnetic .




® B =E
IMZG eI

CNC Tool Accessories

HIETIWMATIREER

Tool arrangement frame for NC toolholder

TR 458 MisRS EE 7% LS |
Order Model No Shank Size Tool Capacity
- 806100 #30 TOOL STAND(J] A %2)-FIG.1 BT/NT/CAT/NC30 64 PCS
@ETJ—% 806102 #40 TOOL STAND(J] & %2)-FIG.1 BT/NT/CAT/NC40 56 PCS
806104 #50 TOOL STAND(J] & %2)-FIG.1 BT/NT/CAT/NC50 40 PCS
% 7] 806106 #30 TOOL STAND(J] B 32)-FIG.2 BT/NT/CAT/NC30 128 PCS
e 806108 | #40 TOOL STAND(J] B %2)-FIG.2 BT/NT/CAT/NC40 112 PCS
T4 806110 #50 TOOL STAND(JJ & 32)-FIG.2 BT/NT/CAT/NC50 80 PCS
U gEImRAIAE
R15T Tool sleeve for NC toolholder
o T 48 MRS SR <+ EELTI 4R
L= Order Model No Size Shank Size
B 806200 #30 TOOL SHEATH(J]JE &) 64Wx137Dx48HMM BT/NT/CAT/NC30
o) 806202 #40 TOOL SHEATH(J] B &) 74Wx137Dx63HMM BT/NT/CAT/NGA0
806204 #50 TOOL SHEATH(J]1E &) 104Wx137Dx93HMM BT/NT/CAT/NC50
paz:
W E FIG.1 FIG.2
0 HETIWMATIRERE

His
il

A
7

Fc 4+

Tool arrangement for NC toolholder

T 18 4% 15

Order

MigE S
Model No

& T4
Shank Size

Tool Capacity

KTHE HEHE

Number of drawers

806300 | #30 TOOL TROLLEY(J]&%)-FIG.1 BT/NT/CAT/NC30 32PCS X
806302 | #40 TOOL TROLLEY(J1& %)-FIG.1 BT/NT/CAT/NC40 28PCS X
806304 | #50 TOOL TROLLEY(J]&%)-FIG.1 BT/NT/CAT/NC50 20PCS X
806306 | #30 TOOL TROLLEY(J]&%)-FIG.2 BT/NT/CAT/NC30 32PCS 2-SET
806308 | #40 TOOL TROLLEY(JJE%)-FIG.2 BT/NT/CAT/NC40 28PCS 2-SET
806310 | #50 TOOL TROLLEY (7] B %)-FIG.2 BT/NT/CAT/NC50 20PCS 2-SET

CNC Tool Accessories

M7 AERE |

i T A T B #3E1E

Tool arrangement cabinet for NC toolholder

TC-LT25
680Wx460Dx830HMmM
i (BT o FEE R % %6 9516 0mm)
(Hisnot including whel-160mm)

TC-523 MAEEYRE
570Wx345Dx650HMM LB ABTREZE  frm
(FF 3 % B R & E % &160mm) Faet

(His not inciuding wheel-160mm) /Nyl 569 398 73

Kl 569 398 153

SET IR SEWBTAZE MBI  BHEH
— . EWATARZE m&it B,
SHmini B/ T A% 8 15 50 45 M EBR IB 30, I 5 R .
W D H *4 1 A A& K4 0KG
/N 480 292 75 *ef 425 3 B 240 B AR B 431
K4l 480 290 154 *IR [E FE R & E 158

R E BT B A & MR 2 FRHER

#3 mm
R B R A, B EE IR R TR

Ji ek BL4H-5214/40
Universal fixture group-52pcs/Kit

1T W 4m 55 MR = TR & AT R T B4
Order Model No T-slot Stud Size Price
806400 CK-103A 7/16" 3/8"-16NC
806402 CK-103B 1/2" 3/8"-16NC
806404 CK-104A 9/16" 1/2"12NC . . N
506406 | CK-104B 5/8" 1/2"12NC & &R TESETREE AR,
N P =
506408 | CK-104C 9/16" 1/2"13NC RERFEERLR.
806410 CK-105A 11/16" 5/8"-11 Suitable for all types of mechanical worktable T-groove,
806412 CK-105B 3/14" 5/8"-11 specially for mold,Fixture plate and other fixed use
806414 CK-08 10 M08x1.25P
806416 CK-10 12 M10x1.50P BFEIE AT AR K S 3" 4" 5" 6", 7" 8" &4
806418 CK-12A 14 M12x1.75P 24PCS.Stud each size X 4pcs:3",4",5",6",7",8"
806420 CK-12B 16 M12x1.75P SATEIIZ I 6 t-slot
R i 2 IS pcs t-slo
Zggjgi e — - 67N 3k Z 12 0E 6pcs fianged nuts
CK-16 18 M16x2.0P AniELiziE 4pos coupling nut
806426 CK-18 20 M18x2.5P 6/ 15 I [E 4R 6pcs step clamps
806428 CK-20 22 M20x2.5P 64N i BU B AR 6pcs stop blocks

ATC =ZRHABERNIA
A.T.C Three point combination precision testing tool

FIG.1

il 0

i IER P
Taper Shank

hﬁgiﬁi:hm

BB S
Model No

1T 4 4% 75
Order

BT30-ATC 806500

MAS403-BT 1 BT40-ATC 806502
BT50-ATC 806504

SK30-ATC 806506

SK-DIN69871A 1 SK40-ATC 806508
SK50-ATC 806510

CAT30-ATC 806512

CAT 1 CAT40-ATC 806514
CAT50-ATC 806516

HSK50A-ATC 50 25 25 806518

HSK 2 HSK63A-ATC 63 32 30 806520
HSK100A-ATC 100 50 40 806522

[




